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Subtraction – 4 

1. 6785 = 12000  ̶  __________ 

a) 5125       b) 5215 

c) 5251       d) None of these 

2.  8   6   5   7 

          ̶    6   4   4    8       

 

a) 2290       b) 1092 

c) 2209       d) None of these 

3. In an election 280732 votes were polled. 3463 votes were found in valid. How many votes were valid? 

a) 257269       b) 277269 

c) 377269       d) None of these 

4. What must be added 78406 to get six digit smallest number? 

a) 25194       b) 12594 

c) 21549       d) 21594 

5. 157882   ̶ 45067 + 12036 = __________ 

a) 142851       b) 412851 

c) 124851       d) None of these 

6. The population of a town is 189632. Ten years ago, it’s population was 165029. What is the increase 

in population? 

a) 24603       b) 24036 

c) 26403       d) None of these 

7. Harry spent Rs. 9875 on clothes and Rs. 1283 on shoes. He had Rs. 15000 with him. How much money 

is left with him? 

a) Rs. 2842      b) Rs. 3842 

c) Rs. 3482      d) None of these 

8. A cricket bat manufacturing company manufactures 382694 bats in the month of January and 753412 

bats in the month of February. Out of these 25764 bats were defective . Find the number of bats which 

were not defective. 

a) 1210342      b) 1110342 
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c) 1113042      d) None of these 

9. By how much is the sum 25837 and 357681 greater than the sum of 25522 and 312336? 

a) 17740      b) 16740 

c) 45660      d) 41740 

10.            +  +     +         +      = 2780 

 

           +   +          = 1960 

 

           +      +          +             +    = __________ 

a) 4204      b) 4240 

c) 4024      d) 4420 

11. Alka had Rs. 42500 in her bank. She put in another Rs. 5025 in her account. How much more 

money she must put in to have Rs. 65000 in the account? 

a) Rs. 17575     b) Rs. 17457 

c) Rs. 17475     d) Rs. 17457 

12. Ryan scored 287 marks in a three subject examination. He got 96 in English and 92 in 

science. How many marks he scored in Mathematics? 

a) 93      b) 94 

c) 97      d) 99 

13. 53 thousands less than 363897 is equal to ____________. 

a) 310897     b) 301897 

c) 310987     d) 318097     

14. 54 thousands 60 hundreds 12 tens – 15 thousands 86 hundreds 26 tens 15 ones = ________ 

a) 32645      b) 36245 

c) 36254      d) None of these 

15. 77987 - ________ = 25605 

a) 50395      b) 53195 

c) 59315      d) 52382 
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